Blow are sample questions from past midterms. Note, this year’s class is a bit different from the previous ones, we had different discussions in class or on field trips. Also, note that some of these questions are from topics covered later in this class. The points in front of each questions provide a relative comparison of their value (i.e.,for grading). 
Consequently, the questions should only be used as guides! 
(18 pts)You are hired to manage the vast acreage of truffalo trees.  The Lorax has a site index graph, but does not know what to do with it. Explain to the Lorax step by step how you derive an estimate of the site index.

(10 pts.) Now that you are down to the last few truffalo trees, you job is to regenerate the stand. List two silvicultural techniques you can use to encourage seed production.  Explain how they work.

(6 pts.) The natural regeneration did not work and the Lorax has a single truffalo tree seed left.  Should he use it for direct seeding, put it in a container or bareroot nursery?  Justify your choice.
15 pts.)The Lorax asked you about measuring the density of the stand of truffalo trees. List two advantages and two disadvantages of using following density measures:

a) Trees per acre

b) Basal area

c) Relative density

(10 pts.) List two specific (typical) reasons for site preparation.  Compare the effectiveness of chemical, mechanical site preparation, and prescribed burning to achieve these objectives. 

(16 pts.) The truffalo tree is an early successional tree species. List four characteristics of early successional (pioneer) species and explain how these four characteristics influence silvicultural decisions. 

(10 pts.) The Lorax hired a consulting company that told him he could delay the peak of gross PAI and MAI by thinning.  He is asking you to explain to him, how that happens.

Your friend wants to establish a wildlife haven on his property west of Corvallis. Coincidently, he won 50 conifer seedlings at the COF Valentines Day raffle. He is supposed to pick them up at the nursery right after the midterm today and is asking you:

(6 pts.) What does the label A 2-1 Douglas-fir " mean and what does it tell you about seedling morphology, quality, etc.?

(6 pts.) What will he need to consider in terms of handling and storing the seedlings? (A silviculture TA has agreed to help him plant, so there should not be any problems planting)

(8 pts.) List four advantages and four disadvantages of bareroot seedlings (compared to container seedlings). 

(6 pts.) Based on our discussions on the field trip (w/ Mark Gourley), describe two technical (i.e., not political) factors that currently influence changes in regeneration practices of private landowners, (such as Starker Forests Inc.).

(9 pts.) Name three silvicultural practices that can be used to encourage seed production. Briefly explain, why or how they work.

(15 pts.) Compare low (German), high (French), and mechanical (geometric) thinning in terms of:

a) age at which thinnings become commercial

b) income potential

c) ease of marking trees for cutting

d) flexibility to adjust to diverse stand conditions

5) creation of diverse crown structures (multiple canopy layers).
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